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gbobobooggbbbuoogbbobuooooob.boooobboooobbodad
O20000000.

g2000,0000000b0b0o0obbuooob,ob,gobbooobbooobod
gbobbooboobooboob,0oboobooboboboobobob.

g3gbogbobobboobdg,uogbboobbobobuoobuogbogbog, o
gooboboooob,dogoooboobooogbob.booan,

1. ogobboooobo
2.00000000
3. 0000

4. 000000DOD

4000000000000 000000000O.

OO0, 0000000000000000,00000000 Maple O V. Costanzo [0 O

0 O The Maple Maptools Package 0 O O O .
(http://www3.villanova.edu/maple/projects/costanzo/carto/index.htm)

0000 MapleDODODOOODODODOOO0ODODOOOOOODODOOO.

04000,0000000000000O000DO0OO0DODOODODOOODOOD
goobooda. oo,200000000,0000030b00000b000b0,00000
gboobog.



2 00

gboobooooboboogobbooogoobobog.

2.1 00O

00 21 DOR*0O0O0O0O0OOD.0O0p:D—R3O00D0O0O0O00O0O0O0O,O0000
0000: Y(u,v) € D,rank(Jp) (w0 = 2.

000 (Jp)uw O Jacobi DO O0O0DO. 0000 p,,p, 000000, Jp= (pu,py) O
go.

rank(Jp) ey =20 py,p, 0000000000000000
00 2.2 pOO0OODOOOOOOOOOO.

00 23 00000000 p(uw,v)0000,0000000000000C00D00ODOOO
Ubb«00,000000:

(1) «00: u— p(u,v),
(2) vO0O: v— plu,v).

gbobyp, 0«000000000O0DODOOOO, p,Uv00b0b0D00OO0O0O0OOO
gooboo.

024 0000000000:
D:={(u,v)|]—m<u<m,—7/2 <v<7m/2}, x=cosucosv,y = sinucosv,z = sinv.

0000000000000000000000 22+¢*+22=1000000.000
D0000000000O0ooo.

22 JUobobobooooobon

00000000 p(u,v) 000000000 ww0O0OO0OOOOO0DO0D000weD00OOO
gbobobooogoobooooboobod.

goo,0b0bogoobobboogooob,bbboodb,go,gobbboooon
ooboobooooogooo, “cooboorgooobo.



221 0O0OO0OOOO

00 2.5 00 p(u,v) 000 p(u,v) 000000000 pu(u,v)d p(u,v) 000000
O0000 E F,GOO0O0O00O0ODOO0O.

E::pu'pua F::pu'pw G::pv'pv‘

00 p(u,v) 00 20 p(u,v) 0 plu+ Au,v+Av) 000 AsO 200 Au,Av0000O
goooooooooooonooooooooao:

(As)? = |plu+ Au,v+ Av) — p(u,v)|?
= |p,Au+ p,Av|?
= E(Au)*+ 2FAuAv + G(Av)?.

As,Au,Av0 00000000 ds,du,dv00,000000.
00 2.6 00000000000 ds?= Edu?+2Fdudv+Gdv? 0000000000

00 2.7 (1],p66) 00000 0OO0ODOOOOCOOOOOOOODO.

222 000000

00000000000000000000000.

t=t,0000200 wO00000 %) = (ui(t),v(£)) 0 72(t) = (ua(t), va()) O O
0000000 plu,v) 0000 poyi()0 pore()000O0DOO.
00000000000oo.

00 2.8 pon(t)0 poyp(t)0000A0DOODO,
Eniytis + F(ty Uy + vhtiz) + GV
V Euir? + 2Fiy0y + Gui 2/ Biis® + 2F st + Gia?

cosf =

00 2.9 0000000000000, |a|=+/FEa?+2Faja; + Ga?

(0) 00D p(u,0) 000 P =plup,v) 0000000000000,
a0 p,(ug,v0) O py(ug,vo) 00O ODODODODOOOOOO.

000 a = aipu(uo, vo) + aspe(ue,vo) D00, 0000000000000,
la|? a-a

(a1py(uo, vo) + aspy(uo, vo)) - (a1pu(to, vo) + a2py (uo, vo))

= a%(pu(u(b Uo))2 + 2a1 a2 (pu (o, vo) - Pu(uo,v0)) + CLg(pv(uO; Uo))2

a?E + 2a,a5F + a3G.

()00 28000]poy(t)0 popt)dt=t,0000000000000,

a1 = Pyli1 + PuU1, G2 = Pylis + PyUa



OO00O0DbOob,0b0b0oboo0e0bbOObO2900,

cosh =92 _ Eniytiy + F (110 + vytz) + Gt
‘ ap H as ‘ \/EU:12 + 2FU1U1 + G,U'12\/Eu~22 T ZFUQ’UQ n GU_22

00 2.10 (00000) 00 v4,%»000000 p(u,0) 0000 pory, pore0000
00000000000000 E=G,F=000000.

(’.’)DD 28000 F=G, F=0000000,

Uj Uy + ViU
V2 4 1124/ 1% + g
Uddwd0O00odd n,pUiOOOOoooooooooooo.
000, F=G,F=000000000000O00000OO.

cosf =

223 0O000ODO

obobobooboobooboobobboboo.

00 2.11 ([1], p60) 000000000 p(u,v)J wDOO0000 DOOOOOOO
0000.00 pu,v)0000 DOO

//D | pu(t,v) X pylu, v)|dudv

obooobooog.

00 2.12 dA = |py(u,v) X py(u,v)|[dudv 00000000000,

0000000000000 000000000ODODO0000O0OoOo (1], plee, OO
1.7)00ooooooo.

00 213 0000 dA=+vVEG — F?dudv

()p,p, 00000 O0O0DO.000COOOOOOOODOO

‘2 (‘pquv‘Sine)z
|pu [’ 2o |*(1 — cos 6)?

— PP = ((u- ) /(2P )?)

= (pu pu)(pv ’ pv) - (pu ’ pv)2
EG - F*.

| Pu X Dy

000, dA=|py, X py,|dudv = VEG — F?dudv.

00 214 «wO000000 DOOOOOOOOOODDOO pu,v) 000000000
00000000 vEG-F?2=100000.



()002120VEG—-F?=1000,000000000000,

//Dpu(u,v) X po(, v) |dudy — //D dudv = | D|

000,pO000 |P|OOOOO. 1

224 0O00O0OODO

goodouoooobbbbbuooooooooo.
w0 00000 v(t) = (u(t),v(t) (a<t<b)0DOOO, poy(t)=pu(t),v(t) 000
pu,v) D00 O0000O0D.000000000O0ODOOO.

00 2.15 poy()00000000000 (O0)L(po~(t) D,

b
E@oy@):/AVEﬁ+2FM+(%Mt

C)LPoyt) = [7] Lp(u(t),v(t))[dtD D0 . poy(t) 0000 000D chainrule 0 O,

L pu(t). v(t)) = puis + pu.

gb 290000,

b
Llpor(t) = / | pu + po|dt

b
=:h/'¢Eu2+2Fuv+C%ﬂmu
1

00 216 DOOO0~({) (e<t<b)0000,0000000000 poy(t)0000
00000000000000E=G=1, F=000000.

(/) [0000000]00215000000,E=G=1, F=0000000.
Dooooo0]

0e0000,0000000 (u,v)000w000000 00000
(up +tcosa, vy +tsina)(0<t<¢)0000. 00000 wOO00O0000¢000.

0000000000 pug+teosa,vy+tsina)(0<t<c¢)000000000000
c:/
0

c:/ \/E0082a+2Fcosasina+Gsin2a dt
0

% (ug + tcosa, vy + tsina) |dt

oQ,

gooog.



d0d cO00do0de—0ongon (uo,vo)DDDD
Ecos’a+2F cosasina + Gsin?a =1

O000.0000000 0000000000, 0=00000E=1,a=x/2000
OG=1000,0000 F=000000. 1

ob 217 00 2160000000000000000O0OO.

go:00 216000 210000 2400000000000,

00000000, 00 pv,v)0000000000,
. F=G,F=0=000000000.

2. VEG-F?’=1=000000000.

3. F=G=1,F=0«< 000000000 (000000O0OoOoooooo.)
goo.

3 Ubouod

gbobobooooboboogoobon.
gb-r0dogobbooodg,bogggbbboooobbobouooobbbod.
gobo,0b0bogoobbobog,bbobuooobbboooobbboooobon
00000 ([1],p99). OODOOO0OO0O0,0000000000O0O0O0O0O0OODOOO
gbooboogobboobu. ggobbooooobobooogbobboooobon
gbbboodgbobbo.goobbbdgoobbboooob.

3.1 OOoOoog

024000000,00000 (¢,y,2)0000 «,0000000,00000000

. . T s
X = COSUCOSV, iy = sinucosv, z = sinw (—7T<u<7r,—7 <v< ?)

goo.
obobobooboobooboooboo PObwbhOObOOobObOObO,0b000bO0ODbOOn
gbobobooooboboooobobod.
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gooooooooogd,

E =cos’v,F=0,G = 1.
ogooooon

ds? = cos® vdu?® + dv?.

de?,d*000 E,GOOO00D0O0,00000000000000,000d?000
giloboboogobo,bbbuogobbouooobbobg.
gbobobooggoobooooboobod.

gboboogoo,buggobobboood,bbouooobboboooobbobood.
gobo,0ggbbobogoobobbooooobobooa.

3.2 U0O0OOOOOOOOOoOoOod

gbobobuoooobbboooobobobog,obboooobbobo,gbbobooad
gooboogobo.bog,bbbuooobobo,gobobbbodoooboboao
gbobooooobooo.

gbboboodgobbbooodobb,ugodbbbboooobbbuoooobbob. oo
gobobooooaon.

0000000000000,000000 (6,90
E=u, n=tanv

oooobo,¢yoobobooooboboo,0ocoboobobooboobooobooo
g.0boboogooboboooon,



€=, n=logtan (L +T))

OoO0O0O0.0000000.
oooooooooo, oo,

dv = cosvdn
00000 7=5(0)0000,000000 (¢,9)0

§=u, n=n(v)
oo, dboguoodooooogd,

E =cos?v, F =0,G = cos?v.
goouooo
ds? = cos® v(d€* + dn?)

000,000000000000.0000000009p=n(v)0O,

_ [T dt v, T
7)—/0 cost —log(tan(2 * 4))

gooobog.

n=log(tan(3z +3))0000000000000000000000000.
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cosé  siné
coshn’ coshn
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ooooo ( ,tanhn) 0O O .




oooobobooboodobD FE=G,F=0000000000,0D00D00DO0O.
gbboggbbooobb,gbboodgbbbuoobobbuooobbooobboo
g,0o0dgdoobbooggbooboooobboboooonbon.

O00,VvVEG—-F2#4100000000000, liin/n:j:ooDD,DDDDDDD
v—+t7m/2

obobobooboobgoobgn.

3.3 UQOoooog

gbobobooogboboboooobobooon.

gbog,boboobooboobooboobobobobboo,bobooboobg
(00b0o0dDsnvdO00oo0.oboboobo0oob. bOoobooboooooboogoD.
oboooooo,

E=u, (=sinv

O000000000,d¢=cosvdv 00000,
oooooon

1
cos? v

000,00000 (vI—=Ccosé, /11— Csing, ¢()000.

(gooobooobooobooboobOo,boobobobobooboo.

1
1—¢?

ds? = cos? vdu? + dv? = cos? vd&? + dC? = (1 — ¢2)de? + a2

0000000000000 0VEG-F?2=1000000000,00000000.
J0o00000o0oooooooooo.
00,F=G,F=00000000000000000,00000000000000
oooooooo.
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00000 P(z,y,2)0 (X,Y,-1)000000.0000,

2x v — 2y

X — —
1—2" 1—2

000,22+ y?+22=1,24100000,

o 4X Y= 4y Lo X24Y2—4
X24+Y24+4’ X24+Y24+4’ X?24+Y?%24+4

000. p(X,Y)=(z,y4,,)0000000000,00000000000,

16
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Oo00.00b000 Xyoooooooooooooooob E=6G, F=000000
g, ggbobbodggooboboooaon.
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4.1 200000

obogo,000boobgo200000000000000.
gbobo,dgdboobogodgbbibbouggobb,ogobbbooooboo
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000000000 OACBOUOO,0A=e,0B=0000. 000000000000

O0000000000,00«0000«D0000O0CAD BCO),00b0000BDOOO
0 OBO AC)ODOODOODO.

Oe«O0O000O0O PR, 000000 ROODDDODODDOODODOODOODOO,

a b

arctan — arctan —

P — ﬁ — b P — (8] — a
“T a+p z T A B -

oboboobob.oobob3gbuobobooboobob,0obobo0obg.
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Va2 +0?=1000000000000000000000000.

oooobobooboboobobolgoboccooobooooo.cooobDOoDO

/N
pOO0O0OODO,0000OO0O0OOOOABDOOOPOOOODO.
/N
Ooooo A 00ono pPOO0.

ooo,

/N

AB 0000000 PODOCODO,OoP000000DODODO POO

0,0000000.0000,
0000 < OP0BCOODO POOO

goboboooobbb.ogobboboooobo.

UeO0O0OO Oo00oOonO

O00, PO0O0OOOOODODDOO POOOOO,

gbobo.0b0bugaobobod.
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0POBCOOOOOO,0POPED) (0<t<e)00000000000.
— —
00000 POODOOOOOOOOO OP=kOP(keR), |OP'|=100,

r_ t b
F _(\/b2+t2’ \/b2+t2)(0§t§a»

goo.

/N

o000 so00000O,000 POACO,PO ACDODOODDOOO,

/ a t
v _(\/b2+t2’ \/b2+t2)<0§t<b))

goo.
—~

PO RBCOOOODOOOODO.
f)=t/V2+2,g9(t)=b/vb2+20000,
1) = —bt/(B2+12)2,¢(t) = /(B> +>): 00000,

RO = / P OR T @Ot

v*t* 4 b
(0* + 1)

0
“
————dt
/0 b + 2
_ /” du
o 1+u?

a
= arctan 3

oo
— b b
AC :/ %dt: arctan —.
0 a°+t a
oo
. /B’C\ B arctan% B et
o = = d = ? IC an?
A'B’ 2
b
VS v
P_A,C_arctana 2 b
= = T = arctan
A'B’ 2

goo,0b0bogooboood.

Oe 0b00000200000000000,000000000000000 1/20
ao.
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4.2 300000

gboobobolgoob,3ggbobuooaon.
OooobOos3gboboooonedb,c0000OD0, D0 FOODODODODOOODOO.
000 Ve!+0?+c¢?=100000000000000000,000000.

F

CY00,0),

B(0,b, 0\
o

Oeb00000000O0ODODO.O00O0ODODOO PODOOO,
0000« OPO00O0CDEFO0O0O PODODO

ooo.
0POOCDEFOOODOOO0O00O0OOPO (2,y,¢) (0<z<a,0<y<b)000
00000000.00000 PO00O0O0O0O0O0O0OOO020000000000 PO
0000000000000000

T Y C

Pl: Y Y
(\/m2—|—y2+c2 Va2 +y? + \/x2+y2+02)(

0<z<a0<y<b)

goo.
0e«O000000POODDOOODODOOO S,,000.00001/800000 #/200

Py = Suw/(7/2)

0oo.
00 S,00000.

0 0
Sap = // —P' x —P'|dxdy
[0,a] x[0,5] Ox y
ooao.
0 y* + —zy —xc
ox (I2+y2+c2)%’ (x2+y2+62)%7 (x2+y2+02)% )
0 pr_ —xy 2? + ¢ —yc
ou. 2 L2 237 2, 9, 937 9 o 93
y (@ +y*+c): @ +y+d): (2P +y* 472
0o,
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ip' 0 —=_p

1 2
xe, —yc,c?) | =
(2 +y2+62)2( ) (2 +y? + )

ox dy

goo.
HEN

/ dl‘ _ €x
(a®+22):  a®Va® +a?’
/ 3 a2 - dx:arctan%
(z* + )va®+a? +1 a?+a?+1
guoodd,gggd.
—P' x —P'|dxdy

s = ]
’ 0.ax[0,8] | 0T Iy
= // 4 —dydz
(2% + y? +c)
= // /e —dydz
(z/c) 4+ 42> +1)2

_ / [ (1/c)y
o [((@/e) + )V/(x/c)? +37 +1

/a (1/c)(b/c)
o ((z/e)? +1)\/(x/c)>+ (b/ec)2 + 1

a

_ /C b/c
0 1)/22 + (b/c)?
T R

0 0

ol

de (- OODO)

Nlw

= arctan
V(afeP + bF +1
= arctan ab .
cva? + b+ c?
gooag,
ab
g arctan \/m ) )
Py = =5 = < 67Lr+ tC — 2 arctan a .
B o m Va?+ 1%+
2 2
gooooog,
P, = 2 arctan ab ,
& cva? +b? + c?
Py = 2 arctan be ,
m ava®+b? +c?
P.,= 2 arctan ca
& bva? + b? + c?
ooo.

Oeb0200000000000000000O0DOO0C 1/2000.
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4.3 0OU

gbobobuoooobbbuoooobobobooan.

De=b=c00000(00C0O0O0O0O0O)

Py,=PF.=PF.= % arctan 11

/3 3

oo, dogtoooooouoooooog.
Oc—- 000000 (00000O0ODDOOOOOOO)
Pab:1> Pbc:PcaZO

goo.
P,—100000000000000000000000000000, Py=P, =0
goboboooobooboooobobboooobobooboooooboobog.
0000000000 (Py+ P+ Po=1)
(O)z = (7/2)Fay, y = (7/2) Poe, 2= (7/2) P DO D
tanx = ab/(cva2 + b2 + c2),tany = ab/(avVa? + 02 +?) (0<z,y<n7/2)000.
tan (x 4+ y) = (tanz + tany)/(1 — tanx tany) = (b/ac)va® + b% + c2.
00O ,arctanf + arctan (1/0) =7/20000,

r4+y+z = (7/2)Py+ (7/2) P + (7/2) P,

= arctan ((b/ac)Va® + b? + ¢%) + arctan(ca/(bVa? + b + ¢2))
= /2.

000, Py + Py + P = 1.

44 00000O0O0OO0OO0OOOOO

gobobuoogobooa,gbbbuoogooboog,bbbooooonoboood
O0.00D0ae=1,b=1, c=100000000000000000000O00O0O0ODO
OebODODOOOODOOOO0.00063662=006000, 000000O000O00O0O0O00O0O0OO
gbbbuoooobbbooobbboooo. bbb, o0obbbduoobbbodao
O000.000000000000000 [3],ph9000.
gbbobuoooobobbo,gbobbboodgbbboooobbbouoooobon.

HEN

gbobobobooboobooboobo,bobobobboboboboob,obo
gb,bogggboobuogg,bboooobobuoooob.bbogogbobobogo
goobod.
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00 [MapleO D ODOO]

O00D0D000000D000000O00 The Maple Maptools Package 0 Maple 0 O O [
Oo0ooooo.

Maple Maptools example worksheet by: Vince Costanzo [update 09-jan-2004] O O O O.
00000000 worksheet 0 The Maple Maptools Package
(http://www3.villanova.edu/maple/projects/costanzo/carto/index.htm) 000 0 0 0O O
OO0o0oDbOooo.

000000000000 C:\local\maptools 0000000, Coastal point databases
0 Fine resolution (29883 points) 000000000,

obobooboobd

>restart,

>libname := libname, "C:\\locall\maptools";

>with(maptools);

>load("C:\\local\\maptools\\fine.m");

>t = (x,y) > (x, y);

>mapplot (f, lonlat=[-180*deg..180*deg, -80*deg..80*deg], meridian_spacing=15%deg) ;

o000 fOo0Oobooogn.

gboooogn

>f = (x,y) -> (x, ln(tan(y/2 + Pi/4)));

gooo

>f = (x,y) -> (x, sin(y));

gbobobooaogn

>f = (x,y) > ((2*cos(x)*cos(y))/(1-sin(y)), (2*sin(x)*cos(y))/(1-sin(y)));
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